Trigonometric Formulas
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cos’x + sin’x = 1 COS*X = #2 sin’x = tan—;(
1+tan” X 1+tan” x

cos(a—b) = cosa.cosb + sina.sinb

cos2a = cos’ a—sin’a

cos2a — 1+cos2a
o cos2a=2cos’a —1 J - 9

cos(a + b) = cosa.cosh — sina.sinb = < =

cos2a=1-2sin’a sin2g — 1~ C€0s2a

1-tana
cosZa:—2
1+tan“a
sin(a— b) = sina.cosb — sinb.cosa
sin2a = 2sina.cosa
sin(a + b) = sina.cosb + sinb.cosa = < . 2tana
sin2a = —
l1+tan” a
tan(a_ b) = tana—tanb
1+tana.tanb
tan(a + b) = tana-+tanb s tan2a = 2tana
1—tana.tanb 1-tan? a
cosa.cosh = %[cos(a —b) + cos(a + b)] = cosp + cosq = 2cos P+g .C0S P ; g
sina.sinb = %[cos(a —b) — cos(a + b)] = cosp — cosq = — 2sin P ; g .Sin p;q
P+q P—(

1 sinp+sing = 2sin .COS
sina.cosb = E[Sin(a— b) + sin(a + b)] = 2

2
sinp —sing =Zcos|0j2Lq .sin p;q

sin3a = 3sina—4sin’a and cos3a = 4cos’a — 3cosa
T .
CoS(——a) =sina
cos(—a) =cosa cos(r —a) =—-cosa [cos(r +a)=-CcoSax 2
sin(—a) =-sina , sin(r—a) =sina , <sSin(r+a)=-Sinx ,<sm(§—a)=cosa
tan(—a) =—tan o tan(r—a)=-tana |tan(r+a)=tana

tan(% — ) =Cota



